- LJ’

This

C
Q-

1% 2b
Drive

®

NEISMNZL 24° HE/IETERESL

METRIC MALE 24° CONE/BUTT WELD

1CW . 1CW—RNW
1DW . 1DW—RNW
_u B
L 8
. \ Sl _! ;
T[T T | e
: 3 Ts2 8L
KERT:
f{ 5 PART NO. 12 4 E | T4ME TUBE O.D. <} DIMENSIONS
$:3k1k BODY | 411} ASSEMBLY | THREAD D1 D2 B D 11 L1 S1 S2
1CW-12-06 1CW-12-06RNW | M12x1.5 6 6 7 10 7 22 12 14
1CW-14-08 1CW-14-08RNW | M14x1.5 8 8 8 12 8 23 14 17
1CW-16-10 1CW-16-10RNW | M16x1.5 10 10 8 14 10 24 17 19
1CW-18-12 1CW-18-12RNW | M18x1.5 12 12 8 16 10 25 19 22
1CW-22-15 1CW-22-15RNW |  M22x1.5 15 15 10 19 11 26 24 27
1CW-26-18 1CW-26-18RNW | M26X1.5 18 18 10 22 | 135 | 28 27 32
1CW-26-22 1CW-26-22RNW | M26X1.5 18 22 12 27 | 125 | 28 27 32
1CW-30-22 1CW-30-22RNW M30x2 22 22 12 27 | 165 | 30 32 36
1CW-30-25 1CW-30-25RNW M30x2 22 25 12 29 | 135 | 30 32 36
1CW-36-28 1CW-36-28RNW M36x2 28 28 12 32 | 185 | 33 41 41
1CW-45-35 1CW-45-35RNW M45X2 35 35 14 40 | 185 | 36 46 50
1CW-52-42 1CW-52-42RNW M52X2 42 42 16 46 19 39 55 60
1DW-14-06 1DW-14-06RNW | M14x1.5 6 6 7 11 11 26 14 17
1DW-16-08 1DW-16-08RNW | M16x1.5 8 8 8 13 13 28 17 19
1DW-18-10 1DW-18-10RNW | M18x1.5 10 10 8 15 | 125 | 29 19 22
1DW-20-12 1DW-20-12RNW | M20x1.5 12 12 10 17 | 145 | 31 22 24




1DW-22-14 1DW-22-14RNW M22x1.5 14 14 10 19 16 34 24 27

1DW-24-16 1DW-24-16RNW M24x1.5 16 16 10 21 16.5 34 27 30

1DW-30-20 1DW-30-20RNW M30x2 20 20 12 26 17.5 39 32 36

1DW-36-25 1DW-36-25RNW M36x2 25 25 12 32 20 44 41 46

1DW-42-30 1DW-42-30RNW M42x2 30 30 14 37 20.5 47 46 50

1DW-52-38 1DW-52-38RNW M52X2 38 38 16 44 22 54 55 60
Ve RSk AR R T AL VLA TE . Note: the body finish is phosphated .




